Exam 4 — Statistics f Y
Math 110-Spring 2014 Name Ne o

...1. Which measure of central tendency (average)—mean, median, mode, or midrange—would be most
) appropriate for each scenario?

(a) The average temperature for April 17® in Moorhead is 45°F. M Sean s
(b) The average family income in Minnesota was $58,906 in the year 2013. 4.« ar

(¢) The average daily high temperature in Moorhead for April is 56°F. In ean
' F:

2. . The following survey question was asked on The Willis Report on FOX Business:
“Should the Government force young people to save for retirement?”
Viewers are to respond to the question on the internet.

(a) Identify the sampling technique. (Stratified, Systemic, Cluster, Random, Convenience)
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3. The following data set gives the highest temperature for January in Moorhead from 2001-2014.
(Source Weather Warehouse)
{41, 51, 43, 33, 38, 39, 37, 40, 44, 36, 34, 55, 40, 42}
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e (a) Drawa Stem-and—Leaf plot for this data set.
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(' 4. The current mean salary for the six employees at EduMath, Inc. is $47,000. If a new employee is hired
at a salary of $26,000, what would be the new mean salary of the employees at EduMath, Inc.?

{/if?aue_}«f Flood tpFuee _ {/4!09{)
i - 4

S SO S -~ =

7/
7’A A X, A jztfi:; 7[; - f&”i@fkﬁf}i f'f Jé*/jf &?ﬁ/'{)l.

5. Use the following graph to answer the given problems. (Show how you find each solution.)

{":9‘
W _
Quiz Results
9
8
7
o6
g 5 .
g4 20/ /02
= 3 /50
2 iz
1
0
Scores
(a) Make a frequency table. (b) Find the mean. ! L
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(,5:] 6. Find the standard deviation for the data set {4, 7, 8, 11, 15}.
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Find the percentage of the data that lie in the following regions for a standard normal distribution.

(a) between z=—0.79 and 1.38 (b) greater than —1.24
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Seven thousand exam scores are approximately normally distributed with a mean of 58 and a standard
deviation of 5.

(a} What percent of the scores (b) What percent of the scores
are between 62 and 687 are less than 567
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(¢) Approximately, how many of the seven thousand scores are between 53 and 637
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m 9. What is misleading in each of the following graphs? Explain your answer.

(a)
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